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O ddbaes 500,000 & 13 500 500 -
213X 3442 2,640 2,640 -
O SOIZHIAIAH 22 110,000 & * 12 JHa 1,320 1,320 -
O 292 |x122] 110,000 & * 12 JHa 1,320 1,320 -
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Al = 0 & A
3t Al 245t L D2AID Bl ZHH Rl -
2 A0 &2 gE| 22X =4
700AFQIHIE 7102 2HI 2 CHel A )
AR OLI(S ) MIRAIS B A S $35$3§'04|A_+ ijggmlﬁ HRE2
si%) AH| 2435 2 DAAD 2l HE O 5 115,000 # 115,000 _
Xk 100,000 At 100,000( At -
o 15,0000 2 15,000 2 .
ETELED 5 115,000 #  115,000] 2 -
X 100,000 X  100,000| X -
o 15,0000 2 15,000 & -
2002 b 115,000 115,000 -
218H A= 2 H| 115,000 115,000 -
O Ao 25 B 20,000,000 & * 5 JiA 100,000 100,000 -
O ALY =32H]| 15,000,000 & = 1 3 15,000 15,000 -
Al = 0 & M
- DAL HAIZ = J|HAEH WM AFS -
M DABPAIR CEAL WA
700AEHIE 7102 2H| 2 o ®EH)
S EEOLI(B) HIRAIY B2 ijgggow ing’?mI& MinEE
DYBFAIR =2 ALY DA ALY 3 929,800 ~ [ 929,800
Al 929,800 A ~ | A 929,800
dermI| gAYl DHl 2 P J 929,800 ~ [ 929,800
Al 929,800 A ~ | Al 929,800
200 ZH| 929,800 - 929,800
401-03 AlE S ThH| 929,800 - 929,800
LA Sy 405,000 - 405,000
SOlE U A 20,000,000 & * 1 3 20,000
_avid DA 27,500,000 & * 14 o 385,000
O w05 Ay 521,000 - 521,000
SOlE L AN 21,000,000 & * 1 3 21,000
~we =yl wr 500,000,000 & * 1 3 500,000
Ouwane 15 B 3,800,000 & * 1 Of 3,800 - 3,800
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